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Q1.A. Ans*er tlrc lbllonilg:
a) Define XVIL narncsplu-e
b) What is Virtual l'ri\atc Scr!rrsl
c) Give anY t\\'o cxarDplcs ol L l\,lS
d) Why i.1o rve use scalc u)ethod.l
e) What is \\'ord-u,r'ap in ( SS I

(s x r= 0s)

B, Ansrver Nhcther thc follo$ing is true or tlllsci (5 r l= 05)
t) InJa\asrripL,a a!s cln aollxin clcntcIls ol dillircnl Lhlat!pes.allowinglorilml).

of numbcrs. st|ings. ohiccls. Id cr cI olltcr' er raYs w ithin thc sa]ne aray.
g) All web bro\\scrs supporl tha siur]e ll lML- ancl ('SS laaturcs withoul anv

disclcpancics.
h) Variablcs irr IlllP arc drsc-scrrririrI
i) CSS is prinrerily uscd lirr addins lirrrclionr ]l\ Lo a rcbsitc.
j) A rcsponsir.c \\cb dcsrgrr onlv Ltscs ntcdie qLrclcs to adapt to dil-lircnt scrccn sizcs.

Q2.A. What do y oLL mcan bv supc| global lAIuc in Irll l) l
B. Wliat is thc usc ol Assocrari,, c irlity in l)l II) $ ith c\antp]e'.)
C'. Explain Llrc passing o1'\alLlcs Lrsilg I'OSl nrcthocl irr PllP.)

Q3.A. StatellllillLqaLlvrnuscs o1 .\t)r!hc scn,el
B. tiow docs thc llnall,v bltrck $rr:'l< in eorriur)!tron \\illr tr\ ..catchl
C. What is a scssion in PIII'c\plain wrth livc crrnrplcl

Q4.A. What is an cvcnt in .lr\ irScriptl
B. What is.lSONl Sho,,r, thc usc olJSON.parse0.
C. Descrjbe \yh l is DONI anrl its rclc in $cb (1.\'cloprncnl

Qs.A. What is \1VC Vic\\il
B. Cive anv three points ofdifJir-cncc bcnvccn lrlrraries r d liameworks
C. What is rr1 XML Schcrra. and ho$ docs il diltir fl-orn DTD?

Q6.A. Give aULl!e pnints ofdill'crcrrcc betrveen bloclt lo,el clcrrcnt and inline
element.

B. Elaborlle on use o1' T('1, lP prorocol
C. What js SSt-'l Shorv Lhc u,orl<ing o1'SSL.
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